
Příjmení:

1. Ze zadaného souboru určete:

15 Aritmetický Průměr:
25 Maximum:
10 Minimum:
40 Počet:
5 Součet:

15 Harmonický průměr:
5 Modus:

60
15
5

45
15
5

Prostor pro výpočty:

2. Ze zadaného souboru určete:

5 Medián:
1
6
4
7
2
3

Prostor pro výpočty:



Příjmení:

1. Ze zadaného souboru určete:

15 Aritmetický Průměr: 20
25 Maximum: 60
10 Minimum: 5
40 Počet: 13
5 Součet: 0

15 Harmonický průměr: 1/20 nebo 0,05
5 Modus: 5

60
15
5

45
15
5

Prostor pro výpočty:

2. Ze zadaného souboru určete:

5 Medián: 3
1
6
4
7
2
3

Prostor pro výpočty:


